
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

1641, 8 × 0.0001 = ________ 1165, 7 × 0.1 = ________

9500 × 0.0001 = ________ 4423, 2 × 0.1 = ________

4356 × 0.1 = ________ 1213, 1 × 0.0001 = ________

2551, 9 × 0.0001 = ________ 4145, 6 × 0.0001 = ________

4092, 4 × 0.1 = ________ 6781, 9 × 0.1 = ________

7406, 9 × 0.01 = ________ 1939, 1 × 0.001 = ________

5240, 4 × 0.001 = ________ 3708, 6 × 0.0001 = ________

4739, 9 × 0.001 = ________ 3322, 9 × 0.0001 = ________

6710, 9 × 0.0001 = ________ 6128, 7 × 0.001 = ________

9742, 9 × 0.1 = ________ 6123, 8 × 0.001 = ________
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